L Bn-2)(4n+n) =0 f eMher factr cquals '-
zevo, the ?mduct equai( zero,

B EV]ZD
n:?j Practon Preﬁérred

a0
- uyn=-1
nN=-Y4+ Praction prefcrred



Kuta Software - Infinite Algebra 2

Period

- Solving Quadratic Equations By Factoring

" Solve each equation by factoring.

ere rewrtten only to be Seen
b G =dans1) =0 ANEVETS W 2 mm-3)=0 bebter on projecior.

{E _L} {3,0

_2_:; -1 = 25

2b 5 3,0
3) (Sn—1n+1)=0 4 (n+2)2n+5)=0

5] -3}
1-.2 -l -7 =5 -2.5
5 2, 2

L )5 T2 =3% . 6) n*=-18 - 9n

3, o "b/ -3

7 v —42=-35y 8) k=—4k~4
{-6.1} {-2}

""'b) l —2.

9) 2y —v+12=-32+6v 10) —4n* + 6n— 16 = —5n>
v {34} {2,-8}

4

3, 4 2,70



11) 877 +3r+2=7/"

{-2.-1}
)

_ P

13) 10n% ~35=65n

4]
-1,

Z

15) 16n% - 114n=-14

&
-% - ’ ‘25’ 7

17) 7a* +32=7-40a

-
7

2 -5
Critical thinking questions. True/False.

19) If a quadratic equation can be factored and
each factor contains only real numbers then
\ there cannot be an imaginary solution.

12) B +b=2
{_2$ 1}

._2’

14) 3x*-8x=16

16) 28n>=-96 — 184n

=

b
:

18) 42x* —69x+20="7x"—8
571
57
S 4

mm—

° 7

20) If a quadratic equation cannot be factored then
it will have at least one imaginary solution.

False (Example, =10 F

#".
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Answers for Lesson 5-5, pp. 266-268 Exercises

1. —4,-2 2. 3,6 3 -1y

4, 5 5. -2,-1 6. =46

7. —4,4 8. —2,2 9, —4,4

10. —3,3 1. —V5,V5 12. —2Vv2,2V32
13. 0,4 14. -2,0 15. 1,1

16. —4,4 <170 -1, 18. —2V5,2V5
19. a. about 6.61s

b, about 6.89 s |

9 -430,-070 21 -132832 (3 —078,128
23. -1.67,-15 (@4 —0.59,2.26 25. —0.94,2.34
@ —5.53,0.36 27. —1,0.25 28) —3.12,5.12
29. -1.46,546 (30 —5.16,116 31, —1.16,2.16

7.2cm

32. a. Answers may vary. Sample: L= item = 1.6

b. the tree trunk

33. a. SW or about 1.76 s

b. % or about 10.54 s
34. Check students’” work.

35. 3ft |
36. —10,4 37. 3,8 38.
39. —%,3 40. —8.69,0.69 41.
42. 4,3 . 43, —589,589 .
45. ~358,3.58  46. —4,0 47,
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—3.25,0.92
1,7
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